»” IYLILLIN
BALL SCREW




. & N " i "
. - L - | i - h -
it Loy o LIRS
i & i Wl . by
| P M el L R
| / - e




(@]
=

1558 R R I RS =

FSIRERE (8

T % B R ¢ SIKIRIES® g
Model No. L w H Ca Coa kgf/um
FSIR1204-3.8 8 30 32 30 . 809 1611 19
FSIR1205-2.8 30 32 30 . 653 1300 19
FSIR1205-3.8 ) 35 32 30 . 799 1591 26
FSIR1210-3.6 40 32 30 . 842 1688 25
FSIR1505-3.8 38 38 40 . 1002 2259 30
FSIR1510-3.6 38 38 40 . 1015 2202 25
FSIR1510-5.6 48 38 40 . 1319 2862 27
FSIR1520-3.6 58 38 40 . 887 1873 17
FSIR1616-3.6 48 38 40 . 1051 2498 31
FSIR1632-1.6 48 38 40 . 488 1104 11
FSIR2005-3.8 39 47 44 . 1454 3606 37
FSIR2010-2.8 46 47 44 . 1107 2798 37
FSIR2010-3.8 56 47 44 . 1507 3810 40
FSIR2020-3.6 57 47 44 . 1365 3459 37
FSIR2505-3.8 39 51 48 . 1598 4511 43
FSIR2510-2.8 46 51 48 . 1230 3478 45
FSIR2510-3.8 56 51 48 . 1622 4587 45
FSIR2525-3.6 64 51 48 . 1571 4098 27

IYLILLIN




FSIY @&sgzipigs

H RRFEBE1220
-30°,

&

=

A g8 RIRIRIES
Model No. Ca Coa
FSIYR1105-2.8 . 576 1146
FSIYR1110-3.6 . 657 1309
FSIYR1220-1.6 . 386 853
FSIYR1220-3.6 ' . 769 1700

Z IYLILLIN




ST &BERIIERE

4-X (G@3L) —

A B R U RIKIZIEE T

Model No. W Ca Coa
FSIR0601-3.8 . . 18 . 100 201
FSIR0602-3.8 . . 18 . 223 460
FSIR0801-3.8 . 21 . 145 363
FSIR0802-3.8 21 . 248 512
FSIR0802.5-3.8 . . 23 . 199 411
FSIR0806-2.8 21 . 198 408
FSIR1002-3.8 . 27 . 312 731
FSIR1202-3.8 . 29 . 329 892
FSIR1402-3.8 . 31 . 349 1038

2 IYULLUN




F SYD 4-X (B3 —| N
EERARSRRE R AR

| pREE-EEEDR

BB g RIRRERE g

Model No. Q n Ca Coa kgf/um
FSYDR1616-3.6 . M6 1.8X2 1051 2498 31
FSYDR1632-1.6 . M6 0.8X2 488 1104 11

FSID  ~ e
WS RAIRER X JAV s

RIEREBE2040

A g8 2B R Y RINRIESE g4

Model No. D A B L w H X Ca Coa kgf/um
FSIDR1632-1.6 32 53 10 48 42 38 4.5 488 1104 11
FSIDR2040-1.6 39 62 10 56 50 41 5.5 641 1567 15

2 1YL LLIN




RSI
HERASRIE R

RIERE (B EAR)

B % % 1B R Y RRIEE R
Model No. L3 Ca Coa
RSIR1205-3.8 14 536 794
RSIR1210-3.6 15 842 1688
RSIR1220-1.6 . 14 386 853
RSIR1220-3.6 15 769 1700
RSIR1505-3.8 1002 2259
RSIR1510-3.6 923 2003
RSIR1510-5.6 1319 2862
RSIR1520-3.6 887 1873
RSIR1616-3.6 1051 2498
RSIR1632-1.6 472 1068
RSIR2005-3.8 1454 3606
RSIR2010-2.8 1107 2798
RSIR2010-3.8 1507 3810
RSIR2020-3.6 1365 3459

<
[N
X
[

g oL LT W W W W <Z
00 00 00 0 O 00 00 00 00 0 O O O O
Ll i
W W W wiw w w ww w ooy P
W W W W W wWw W w w wwww w
W W W W W W W w w wwww w QO

7 IYULLN




RST @#sgmzsEpigs

£

7

RISREB (BEHE

bARR )\

& R
Model No.

Ix

e

17 18

R v

RIRIRIE & fay

L2

Ca Coa

RSIR0601-3.8
RSIR0602-3.8

0.8

1.2

95 191
349

RSIR0801-3.8
RSIR0802-3.8
RSIR0806-2.8

0.8

1.2

1.2

479
436
338

RSIR1002-3.8
RSIR1105-2.8
RSIR1110-3.6

1.2

657

2

2

RSIR1202-3.8

1.2

6
6
6
6
8
6
8
8
6

U'IO\CDU'I-b-b-b-b-bz

1042
1190
803

2 IYULLUN




Z IYLILLIN

SPINDLE AXIS
LINEAR ACTUATORS

JYUFD-4

JYUFD - 4 -100- 0802 - CM - M100 - O 1

w R ifE |7 | R 18 BETERUE [BEIDER ¥ E B B M B 3 B
NO. Size Stroke | Spindle Size Motor Position Motor Power | Optical Sensor Position Number of Sensors
4

50-500 B 08 cv  BEZER 100(W) - ¥ None S3 3{ERHEd 3x Sensors

Direct

o 7 s o
pv ETZEER .
E*EEE Downward Parallel MA I:

Panasonic
itch |
P LM rﬁ]EFEﬁTﬁ Yﬁ(awa

Leftward Parallel LA
=}3
Delta

RM aaEE Hi

Rightward Parallel Others

(mm) (mm) ¢ (mm) O S#} HangOutside | Sn n{EIFFEE nx Sensors

= ¥
Mitusbishi




JYUFD-4-CM sz

17 iz
L p4RE3 STROKE
(mm)

>

[0} ¢} ¢} ¥ 50
o O o [o) (o) (o) o /O o) (o) o (o) (o) (o) (o) o OO/O 100

150
o o oL o

7 200
2-PIN$4 N-M4*0.7 (BRURE 10mm) -$3.45830

250
300
350
400
HEIRER 79 HABIR25 450

v 00 B B W W NN R B

| — 4-M4x0.7 500
2-PING3RES

Fa)

BERE134 17%2 (STROKE)

7 IYLULLUN




JYUFD-4-RM msrEe:

7 B
STROKE
(mm)
50
100
150
. p— 200

2-PIN¢4 \N-M4*0-7-¢3-4‘;§:§ MRESL 250
300

) 350
RORAL10 372 (STROKE) 80 200

HEARIRO1 2-PINO3;RE5 AR IR25 450
4-M4x0.7
500

>

v A A W W NN PR BR

7 IYULLUN




JYUFD-4-1LM mzxrEe:

7 &
STROKE
°o o o oQ S (mm)
50
100
150
200
250
300

350

>

O

Q S
NMA0 T3 ams - RET

2-PINg4

| 2-PING3RES
| — 4-M4x0.7 400

= 5 450
° 500

v A A W W NN R

I —

P HIRIRG] ABRPR25

BEIRE116 1772 (STROKE) 80

T

() O
© ©

OO

44

2 IYULLUN




JYUFD-4-DM @ Tryszs

71 Ax 100 50

5 1=
o] [e] (o] o [e] o o . STROKE
3 (mm)
e}

>

e]

Q. S
50
2-PIN¢4 \ N-M4*0.7-03.48Z VAEB3L
100
150
200

HABARO1 HAIRER25 250

| — 4-M4x0.7 300
2-PING3FE5 350
400
Yo

& 450
500

-

o

v A A W W NN R BR

BERE116 4742 (STROKE)

7 IYULLUN




/7 IYLILLIN

SPINDLE AXIS
LINEAR ACTUATORS

JYUFD - 5 -100- 1210 - CM - M100 - O

fw o B |17 | B 18 DEZRUE | B EIX ¥ E B B M B B B
NO. Size Stroke | Spindle Size Motor Position Motor Power | Optical Sensor Position Number of Sensors
12

5 50-800 BEf¥

(mm)  (mm) ¢ (mm)

cv  BEZER 100(W) -  HE None S3 3{EREHEF 3x Sensors

Direct

a7
ovm BENZEER
Bz 01 Downward Parallel M

Panasonic
itch 05 7
PLE v EERE o

10 Leftward Parallel JBG
=}t

20 Delta
RM G EE Hith

Rightward Parallel Others

O ¥ HangOutside | Sn n{EIESEE nx Sensors

—
Mitusbishi




JYUFD-5-CM gz

13 2
STROKE
(mm)
50
e 100
150
200
250
— 300
2-PINg5 N-M5x0.8(5 LR E 13mm)-64. 3583,
350
400
450
500

>

T IRARES IBRIR25 550

4-M5x0.8 600
2-PING3RES 650

700
750
800

00 0 N N O O 1A DN WW NN R R

BERE140 17#2 (STROKE)

2 IYULLN




JYUFD-5-RM msmEe:

L~ o5RESL

2-PIN¢5

N-M5*0.8(-ERURE 13mm)-04. 35830

BERE120

1712 (STROKE)

80

HEEBRO5

4-M5x0.8
2-PING3IREZ6

HEER25

=

OO

7 IYULLN

7 B
STROKE
(mm)
50
100
150
200
250
300
350
400
450
500
550
600
650
700
750
800

>

00 0 N N OO 1l A W W NDNRPR e




JYUFD-5-LM mzxpmEe:

Ax 100

50

- $5RESL

2-PING5

4-M5x0.8
2-PING3REZ6

N-M5*0.8(BRUFRE 13mm)-04.3583L

HEHIRRE5

BERR120

172 (STROKE)

HEARPR25

80

T

7 IYULLN

7 B
STROKE
(mm)
50
100
150
200
250
300
350
400
450
500
550
600
650
700
750
800

>

00 0 N N oo oo it i BB W WNN R PR




JYUFD-5-DM m TR

- $5RESL

2-PING5

N-M5*0.8(- R E 13mm)-04. 3383,

HEHAEPRO5

| 4-M5x0.8
2-PING3BE6

HEMAEPR25

Q

BERE120

17%2 (STROKE)

2 IYULLN

7 &

STROKE
(mm)

50
100
150
200
250
300
350
400
450
500
550
600
650
700
750
800

>

00 0 N N o o un i AR W WNNDNRER PR




/7 IYLILLIN

SPINDLE AXIS
LINEAR ACTUATORS

JYUFD 8 100 1610 - - M400 -

i ® |17 S DEZRUE | B EI X ¥ E B B M B B B
NO Slze Stroke Spindle Size Motor Position Motor Power | Optical Sensor Position Number of Sensors

50-1050 EE cv  BEZR 200 / 400(W) -  H None S3 3{ERFHREE 3x Sensors

Direct

(mm) (mm) ¢ (mm) O ¥ HangOutside | Sn n{EIESEE nx Sensors

I\/I|tusb|sh|
ov BTZEE T
gz 05 Downward Parallel i

Panasonic
pitch 10

o R 2zl

16 Leftward Parallel a3
=

20 Delta
RM G EE Hih

32 Rightward Parallel Others




JYUFD-8-CM =z

80

2 PSREISL

oo

Q.

(¢

2-PIN$5

N-M6x1(BRURE 15mm)-95.1583L

4-M6x1
L 2-PINGSEES

o

HRIBAR110

BERA181.5

172 (STROKE)

AR5

96.5

7 IYULLUN

7 B
STROKE
(mm)
50
100
150
200
250
300
350
400
450
500
550
600
650
700
750
800
850
900
950
1000
1050

>

O OV W 0 N N o o L L B & W W NN BRB B

N e
~ O O




JYUFD-8-RM msmeEz

2 ¢5KRESL

N7

[e;

2-PIN$5

N-M6x1 (BRURE 15mm)-$5. 15831,

T

BERE167.5

1712 (STROKE) 96.5

HEATPRI6

HAARIR25

4-M6x1
2-PINGSRES

o

7 IYULLN

%.
3

7 B
STROKE
(mm)
50
100
150
200
250
300
350
400
450
500
550
600
650
700
750
800
850
900
950
1000
1050

>

O VW 00 0 N N o o uu n & B W W N DN P -

N i
= O O




JYUFD-8-LM mxpzz:

80

2 95RESL

N

O

2-PIN$5

4-M6x1

N-M6*1(BRUFRE 15mm)-05. 158351

- 2-PINGSRES

[e]
=
°

°
-
[¢]

[c] @

o

HIBARIO
BEIRR167.5

17%2 (STROKE)

HEARPR25

96.5

T

()

2 IYULLUN

7 1B
STROKE
(mm)
50
100
150
200
250
300
350
400
450
500
550
600
650
700
750
800
850
900
950
1000
1050

>

O OV W0 00 N N o o L 1 B & W W NN R B

N e
~ O O




JYUFD-8-DM B TRz

80 STROKE
(mm)

50
100
150
200
2-PIN$5 N-M6*1(ﬁ§5[};’ﬁf§15mm)-¢ST§E}L 250
300
350

4-M6x1 400
2-PINO5EES
- OORE 450

o
. 500
. 550
s 1 [5le 600

HARIRRO6 AR R 25 650
BERE167.5 17%2 (STROKE) 96.5 700

>

2 O5RESL

750
800
850
900
950
1000
1050

O OV W 0 N N o o L L B & W W NN BRBP B

[
o

=
o

[E=Y
[EEY

7 IYULLUN




IYLILLIN
éﬁ@iﬂﬁﬂﬁﬂﬁl

afmh412KEE
ARETXRE7IE115F325FA1
5T : 886-4-2491 6535
{§H : 886-4-2491 2156
e-mail:info@jyulun.com
https://jyulun.com




	24P1
	24P2
	24P3
	24P4
	24P5
	24P6
	24P7
	24P8
	24P9
	24P10
	24P11
	24P12
	24P13
	24P14
	24P15
	24P16
	24P17
	24P18
	24P19
	24P20
	24P21
	24P22
	24P23
	24P24

